
Current dataset:

	column1
	column2
	Items
	FACT1 value activity code pro
	num_1
	FACT2 value activity code pro
	num_2
	FACT3 value activity code pro
	num_3
	colum8
	column10

	value1
	value1
	Item1
	Yes
	2
	no
	4
	yes
	9
	value1
	value1

	value2
	value2
	Item2
	no
	5
	no
	5
	yes
	5
	value2
	value2


Expected dataset

	Item_name
	Fact_name
	Fact_value
	num

	Item1
	FACT1 value activity code product
	Yes
	2

	Item1
	FACT2 value activity code product
	no
	4

	Item1
	FACT3 value activity code product
	yes
	9

	Item2
	FACT1 value activity code product
	no
	5

	Item2
	FACT2 value activity code product
	no
	5

	Item2
	FACT3 value activity code product
	yes
	5


 

